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253977 MY STV DI IO MWNa 7wt 19982 — In the case of a
tree that is standing in a °'""'777 and its branch extends into the
'

Overview

The &) refuted s'ndY° 27 answer that X°77 °27 11 X7, who holds that a "7 23p»
is not required as we see from the 2m» 27 XIIW 20 7 A"y AN PIT ,XNM2,
because really 27 agrees that a '7 01Pn is always required, and the reason
why °27 maintains that he is 21, is because this is a special situation where
the 2"/ 7L 1D °"7772 19°K and 21 holds of the concept 1NP°Y N2 1911 W,
There 1s a difference of opinions as to what this 121 >7w accomplishes.
According to 7w 1"7 >"w", it confers on the branch the status of a '7 23pn, and
the thrower 1s 21, for 7"772 MR "7 P, MBOIN disagrees with >"wA, as
mooIn will point out at the end of MooIN.

The opinion of MdOIN is, that 131 "W accomplishes a change of the mwA
status of the branch, that even though it is in a 7"777, but since the trunk is in
a °"717, the branch is also considered as a °"717, and he 1s 21 for "7 P
""77%. In our "2 7w X3 will also have to confer upon the branch the status
of a'7 0pn, to be 21, for our X711 maintains that both in a 2"7M "7 a opn
"7 1s required for MIM 7PY.

This interpretation, that the Xn>12 of w"2 11 2"y n3y P71 is in the case of 77°R
7"772 A 19 °"An2, was originally stated by 2R, not in reference to our
X713, but rather to answer a question on X701 27, who stated (2,7 q7) that a
"7 0Pn 1s not required (in a ""77)!. On which the x 3 there asked that it
seems that X701 27 is agreeing with °27, against the 0°»51, who maintain that
a '7 @n 1s required, as evidenced by this Xn>972 of w"> 1 A"y nn P21, To
which »ax responded, that everyone agrees with X701 27, that a "7 0pn 1s not
required (in a °"77), and the reason why the 251 say that he is 709, is not
because it was on a @"> 171, so there was no '7 23, but rather we are dealing
with an 2"77% 7031 1DI 2"7372 2w 19K, and it did not travel 7"772 NaR "7,
when it landed on the branch. The reason why °27 is 211 i1s because of v
423, the branch is considered a >"717, and he is 2°°17 for *"737% 2" P, The
0°1o1 do not hold of 121 >7w, so therefore he 1s Mo, because it landed on the
branch in a °"717 (less than N»R "7, from where he threw it).

The difficulties with the interpretation of »aX are: a) that the tree and the
branch are in two different N1 1s somewhat unusual, it would be better to
establish the Xn>>72 that the entire tree is in one MwA only, either a *"77 or a

' The parenthesis will become clear with the reading of maon.
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7"77, b) the concept that 121 >7w will confer upon the branch a status of a
different mw", may be a bit difficult to accept, it may be more acceptable to
say, that it confers upon the branch the status of a '7 23pn, c) if we are
primarily concerned with the mwA status of the branch, why emphasize that
it was a X1 72 171, we can have the same npy2rn with a 1°7 that is '7 5y '7.
mooIn will be discussing these and other issues.

MARPIRD XM 7T PNYRRa X9 — in our discussion here, we would have been
able to say that the xn>>2 of X1Ww 72 11 3"y M1 P17 is discussing -

T NIM2 ORP WD DM PR Y9382 — the case of a tree that both the
trunk and the branches were entirely in the '3

'7 Y9 w2 wM - and the trunk is o°1ov "7 Yy oonow 'Y

195 N2 19N TR 920 9297 — for 29 maintains that we cast the branch
after its trunk

'7 2P% Navwm — and the branch is considered as if it were a 'T 2P, just as
the trunk is a '7 2Wp», and therefore he is 21, because there was a '7 21p»n A"V 717

IPOY N2 1D TR MR KD 9920 1127 — and the 3129 maintain that we do
not say cast the branch after its trunk

"7 2% M7 89 — and therefore the branch is not considered as a '7 21pP», and
therefore he is Mo

PRAYRR RI20 21 79757 w27 — for our X923 maintains that even in a 3''719
'7 By "7 @2pn J9waT — a place of '7 By '7 is required for qmim °pY; we can
prove this -

172w Bpoaw vIn TINDa MRTR — since later the X3 will say that the mwn
should be read as if it said that it was placed or taken from the basket that
was '7 ¥ '7 which was in his hand, thereby explaining how there was 7mam 7Py
'7 011 °23 9¥n, to which the X713 there responds

751197 Mwa2 non K7 — this explanation of the basket is valid only when the
basket is in the %''19, so we have a '7 01pn, however when it is in the 1"771 there will be
difficulties (see X13)

PIIR 2P SMISWRD 9T A1 TIINT MWNaT yawn — from this we can infer
that concerning a >'"'77 we are also requiring that there be a '? 21p%, so it
is not necessary to say that the branch extended from the >"77 to the 7"77, which is a
more complicated situation (and it also requires that 121 >7@ confers upon the branch a
change of mw"), when it could have said that the entire tree was in the "7, which also
requires a "7 21pn. Therefore according to 27 the branch has the status of a "7 21p»n because
of the principle 17p°¥ 702 1911 >7W, and according to the 7127 he is 7o, because the branch

is not a "7 03p» since they do not say "21 *7w. Why then did not the X713 say it in this
simpler fashion? MdoIN answers:
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RI13 OR77D vPI K98 — however the reason why »ax said it in such a manner,
namely 7"772 191 "7 PV IS -

N70M 297 RNPIMR P52 AN MART XN9T 2w — because this statement
of 28 was originally taught later in our P99 in conjunction with the

statement of XTOm 29 (it was not said in conjunction of trying to disprove s'n0Y 27
position that X7 °27 %11 X7) -

Y23 HY A1 P v''ana map pei KT — who said: if one stuck a pole in a

>''19, and someone threw an object from the 7"717, and it landed on top of
the pole, which is not a '7 2pn

2977 7R TIN® 7923 1998R — even if the pole is one hundred n»K high, and it
extends above the mx°nn of the *"'717, nevertheless he is 29

275 MRT K707 27 K2 7995 — and the X3 there asks do you mean to say
that X701 29 agrees with 29, of the w"> 1 3"y i1 P71 ,XN*>13, where *271 maintains

that he is 217 even though there was no "7 @p»n 3"y 1137, and X701 27 agrees with 27 not
with the o°n51, how can that be?

R70M 2972 30D KD RabY Y910 7o mwnaT nuwny — and 2R answers there,
that when the object lands in a >''719, there is no argument, and everyone
agrees with X701 29 that a '7 23pn is not required for a >"7772 M7, so why do the onon
say that if 7105 W"2 11 3"V 111 P77, 2K says that

2" 3 9D 'R AW 39982 RO — here in the case of T A"V N P
v"D, is when the tree was standing in the "9 and its branch extended
into the 2''19

"7 yIP9r2 PR 199BR Y — and the situation may be even be when the
trunk does not have a '7 07, since we are following the ruling of X701 27 who
does not require a ¥"2% '7 2pn in a "

PO N2 DN TR 93D 9277 — 937 maintains the principle of =3 W Tw
Py

259 7997 w2 XM177 — which makes the branch as a "', and therefore
he is 291

R7017 2972 '7 2Ip% 17 X7 23 YY X — even though neither the branch nor the
trunk are a 't @ypn, nevertheless he is 21, according to NTom 29, who
maintains that in a '7 237 1°¥2 X2 °"71

YIP°F N3 3931 TR XY 9128 32271 — and the 3329 maintain that we do not say
19?°9 N2 1931 9T, and since the branch is in a 7"77 he is Mw>.

In Summation: In the original statement of *aX, where he was explaining that everyone
holds like X701 27, that a °"771 does not require a "7 2P, then the concept of 121 7w
accomplishes that the branch in 7"77 is considered as if it is in a *"77. We could not have
said that the entire tree was in the >"717, for then according to X701 27, everyone would
agree that he is 2. In our X723, however we are not following the ruling of X70r 27, and
we require a "7 2P, even in a *"717, and therefore we could have said that the Xn»93, is
about a tree which is entirely in a >"77, and "21 7w, will accomplish that the branch is
considered a '7 0Pn, however since »aX has already interpreted the Xn>>72 that *"772 1Py
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7"772 10, we go along with that interpretation, with one difference, that for us "1 7w
will accomplish two things; a) that the branch is in the °"77 (like »2X), and also, b) that
we consider the branch to be a '7 2pn.

TaPY AR IR R RRX 7w 9axk — However there still is a difficulty, why

doesn’t "2k answer later (on X,7-2,7 77), when the X713 asked how is it that X701 27
holds like 27 who doesn’t require a "7 23p» and not like the 7127, 2R should have
answered that the case of "2 11 A"¥ 1111 P77 is when

"7 MPOYa WY 293777 N2 1912 TR 19N — the tree is entirely in the 2''71n,
and the trunk has a 't 0pn

'321 1291 57W 920 5297 — and °31 maintains the principle of 191 sTw etc.,

'7 2Pn 2w — and therefore the branch is considered as if it had a ' 21pP»
and therefore he is 217, for being a 7"7772 MR "7 P

"7 2P 7 KY 332991 — and according to the 3329, who disagree with the
principle of 1p°y 902 1911 >7W, there is no "7 23P» and therefore he is Mwd. We
would gain by this that we don’t have to qualify this case that the tree and the trunk are in
two separate N1WA which is unusual, but rather they are in one mwA, namely a 1"7"
which is more likely. In addition, this interpretation of 1211911 *7% would accomplish, (not
like the previous interpretation that it makes the branch, which is in the 7"77, into a "1
like the trunk, but rather) that it accords the branch the status of a '7T 2171 just like the
trunk, which may be more readily acceptable than changing its mw".

We cannot say that the reason »aX did not choose this latter interpretation, is because we
are accepting s'R7017 27 view, that a '7 217 is not required, this is not so —

'T 23R JYAT RTOT 27 77 2%297 w2 — for in a RTem 29,979 admits
that a '7 2p» is required —

NTOI7 29 MMRP XPNT 79757 Mw127 — for R7on 29 said his 777, specifically only
ina»s"m

“ARPT AP pawnTd — as is indicated in the X3 later (x,7) where the X723 says:

R7O77 290 93995 KY R»bY 910 79757 nwna — that in a >''79 all agree with 21
X701 that a '7 01pn is not required, which indicates that X701 27 is ruling only in a >"77.
The question then remains why did not »2X explain that the case of "> 1 3"V 11 P77 is
when the entire tree with the branch were in a 2"777 and the npYonn is whether we say 7w
19P°Y N2 1911 to accord the branch the status of a '7 2pn.

APIND %% RY 293777 M2 M w — we may answer this question by

saying that we are unable to interpret this n?%rn as a case, where the entire
tree was in a 1"

7129 YU 7 RY "an munb nan 98T - for if the branch was within three
o1ov of the ground of the 7"77, the 3339 would have never said that he is
"D

'7 2997 23 Y¥ 08 — even though the branch is not a '7 03p»
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N7 NN2°n0 RYIN3T — because anything within 3 2°19v of the floor of the
7"77 is considered an extension of the ground, and it is a 7", and it surely is a
'7 03Pn, and he would be ¥"125% 2°11. Therefore the branch cannot be lower than 3 2’nov

529 29°m» 7 RY 'an hwnb o1 — and if the branch is 3 o°nov or higher from
the ground, then 539 would not maintain that he is 297 -

PITIR 27 2K K7 N7 — for if the branch is wide 4 o°nov by 4 o°m9Uw it is
a “nehmas

'7 27 1R 2R MMLE 2377 X — and if it is not '7 ¥ '7 then it is a *MwD 2P so
in either case he is not 211, since it did not land in a 71"77. Therefore we cannot say that
the entire tree is in a 7"77, and we also cannot say that the entire tree is in a *"in

according to X701 27; the only choice remaining to X is to say 711191 >"7172 7AW 12°K2
"o

A% 9 AMSWR YA 293777 NWNaT ANT N'"'awe® — The X'"'2wa however
maintains that in a 9''779 we can also apply the principle of —

PO N2 1911 97w — cast the branch after the tree, However, not to consider it a
"7 011, but rather to consider it a 7"77 - and we can overcome the objections stated above

bR e 1P a0 — if for instance the trunk is lower that 3 onov
from the floor of the °"717

by 2%NOR 2% "V M2 IR — or that the trunk is 9 °1dY above the floor of
the 7"17, and the people adjust their burdens on it*

2% nwn "7 — this would make the trunk a 9" in both abovementioned
cases

"3 7opnY 79Iv 92 — and the branch extends above 3 2°rov from the ground.
Now, by itself, the branch will be a M5 2P, nevertheless

292777 NI M1 7 92T — according to 27, the branch will be considered
an"'m

POy ana 7% 397w — because we accord it the status of its trunk, even

though we are changing the status of its M7 from a MWD DPM to a 1"77, nevertheless we
may do this

T NI RMWD 1P N2 0 TR 9207 90 — in the same way that we
said according to »2X that Y9°¥ 202 211 72 will confer upon the branch the
status of a ''779, so too, we can equally say that the principle of 121 *7w can confer the
status of a 7""177 to a MWL PR

2'"5772 9177 XY 332991 — and according to the 1337 the branch will not be like a
2'"'719, but rather a Mo 0P, since we do not say T, it retains its original status, and
therefore he is "w>.

We see that »aR could have interpreted the np12mn in a 1"79, not as MOOIN previously
suggested, that it would be impossible to have their np12mn in a 1"

* See ‘Thinking it over’ # la
? See “Thinking it over’ # 1b
4 See 191 K9W MK R,1T R0



T2°X2 7"'710 2,7 DAY .7"02

377 MR 799 P K97 XM — and the reason why »ar did not interpret the
nP1?na in this manner is —

292977 M2 23 T 2R Y2 KD KRTOM 297 2wn — because X701 20 does not
require a 7l on a '7T 21P» even in a v'"'7n

N1 sxnT —for what is the difference between a >"77 and a 2"71 in regards to
7m1a? If there is no need for a '7 ©p» in one MW" the same rule will apply to the other.
Therefore since a "1 0)p» is not required in a 1"77 as well, »aX cannot say that the npYonn
is in a 71", for both *27 and the 7127 agree, according to X70m 27, that even in a 7"77 a
'7 2P is not required’.

The question arises how can we say that 7011 27 holds that even in a 7"777 a "7 21P» is not
required, when: a) why did X701 27 say his "7 only in a "7, when it applies equally to a
2", and b) why does the X n3 say later (X, 57) that X701 2772 %399 X9 ¥"2 >"773, when it
is equally valid in a 7" as well? The X"2wA continues:

71757 NI vPl R7o1 2 — and the reason why X701 29 stated his 7°7 by a
5'"779, even though a 2"717 also does not require a "7 0P

DIAR FIRM TI28 Y9BR JYRWNRY vwaT awn — because his intent was to let us

know that even if the pole was 100 n2R high and it extends above the mx>mn of
the >"771 he is still 21

YIPI 7Y 9 TN Nt 2wn — because a v''71m extends up to the sky. It
was not the intent, however, of X701 27 to tell us that he is 217 even if there was no Dpn»
"7, for according to X70m 27 this applies always in a 1" *"77. The concept of v 79w
¥°P72, however, applies only to a *"'77, and this is what X701 27 taught us.

TS NI TR BPAT 97RY — and since X707 27 used the expression %',
which he had to, in order to teach us that ¥°p1% 7v 72w "1

"2 5a%HD KD KDY K915 5''7192 9977 N3 911 vl — the X3 continued to use the
same expression that "3°95 X% ¥'"> '"'7792, even though, that in truth they agree,
that even in a '7 23pn V2 87,770,

Now that the &"2w" has stated that everyone agrees that a "7 2177 is not required according
to X701 27, a question arises why does the Xn*12 mention X)W 93 11, since the whole idea
of 121 "7 is to change the MW" status of the 713, why is the size of the 711 relevant. The
X"2w" presently addresses this issue.

R7O17 297 N2HR 2P MaR 7 Pt R»™ — and later (X,n) when »aN
interprets this npY%nn according to X7om 29, who maintains, according to the
X"2w", that a '7 017 is never required

N7 B2 17 uPaT N7 — how come the Xn°°12 mentions that it landed on a 1%

N 5:, since we are discussing according to X707 27, the size of the 17 is irrelevant,

5 See " 27T nwo LX"wAnn 2" waan ,0" 0,20 nvoin for their discussion as to what the X"awA meant. See
appendix.
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S3o9D 11 "7 amn2 YR K77 — because even if the 1°1 would be wide 4 o rov,

there would be the same npY»m, whether we say 197°¥ 902 1971 *7w, to consider the
a11 a °"77, or not, so why mention the size of the 1°1?

NI B> up1T R"awn MR — the X"awn answers that the reason that the
XN>92 mentions that the 17 was a Ry 92

" mhynb 2wn — because in a case where the 1°7 was higher than 10 oonov
from the ground, then the size of the 11 is relevant
5" T '7 anm T 98T — for in such a case, if the 17 was wide 4 2D it

would be considered a ', since it is 10 2’1o high and 4 by 4 o°n19v in area, which
constitutes a "7 as NvOIN will soon explain, and therefore in such a case, where the 17 is
a’"m

7129 WD 7 X% — and the 3129 would not have said that he is =9. Since he
threw from a 17"77 to a "7 he is 21, without the need to apply the principle of 21 7.
That is the reason why the Xn>92 mentions the size of the ™ that it is a XWw 93, so
according to the 13127, who do not hold of *7w, it will never be a *"71 and therefore he will
always be 7105.

mooIn continues to explain, why if the 11 is "7 2m™ " MAa3, is it considered a "7, since
there are no Mx°nn

¥nnn 2%p13 2573 S9%ex — even though kid goats pass underneath it, it will
still be considered a *"7, although many authorities maintain that a *"77 must have walls
that extend downwards (from a height of at least 10 o°19v) to within 3 2190 from the
ground, so that kid goats will not be able to pass underneath the wall and thus invalidate
the 7¥°mn, and consequently the "7, and in our case of the 7, there are practically no
walls at all, so how can we say that the 1°1 is a *"717, if it is "7 2m™ ™ M23, MdOIN explains
that nevertheless it may be considered a>"77 -

(%8P 77 %) PIITTD TTITY 9272 90 9290 9120 SR — If the 1327 of our X121 will

agree with 77737 '3 %0 5239, who says in P97 P9, that there is a concept of
XnXoma nonX T that if we have a platform which is '7 2m™ ™ 7123, and there are no walls
below it, like our 11, nevertheless the top of the platform is considered a valid *"77,
because ‘we draw down the (imaginary) walls’ from the top of the platform to the floor
beneath it and it is as if the platform has valid n1¥°nn below it.

The X"2w" explains that the reason why the Xn>>72 mentioned the size of the 71, for if it
hadn’t mentioned its size, we would have assumed that the 7127 hold that he is always
7o regardless of its size even if it were " 231 "7 2mM, which may be misleading, if our
7127 hold like the fv°w of 7717 "2 °01° °27 who maintains Xn¥*1» DR 713, which would
render this 17 a °"717, and therefore the 7127 would also agree that he is 21, because he
was °"717% 2" P, therefore the Xn®>12 states a XI37w 23 11, and then the 7127 hold that
he is always Mv>.

P 13929 IR PR — the "' does not agree with the s'x"2w" explanation that
the Xn»72 states X1 95 171, in order that we should not be mistaken as to the opinion of
the 1127 —

® This is the corrected reading, not '7°X X', see gloss.
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79 vPI 9397 KRN0 ownt yewnt — for the simple reading of the text

indicates that w"> 17 was mentioned to appraise us of the novelty of s'»29
position, (that even though it landed on a w"> 171, nevertheless he is 21). However
according to what was said till now there is no novelty in being 2°°17 on a w"> 1°1, because
according to X701 27 a "7 01P7 is not required.

"9 928 — therefore the 3''9 says that the reason why the Xn»72 mentioned a 1
v">, was for the purpose of clarifying s"27 opinion, and not the 7127,

N»ne 17 wpr M7 9RT — for if the Xn»12 would have just said 1°%, without
clarifying what size it was

YR 2772 9RT INYT KPP M7 — we may have thought that it was wide
4 ooy

YIPOY N2 191 TR 2w IRY 5297 X»YYY — and the reason why 921 says that
he is 2’17, 1s not because we say 1P 902 11 TR

TTITS 9372 98I 939D 1207 RIMK 77 XOX — rather we would have thought
that 17 agrees with the aforementioned 3'"93 '3, who says that

bPoIL WNRI3Y 2"'7M2 M yYiT7- if one sticks a pole in the ground of a 2''mn

and on top of the pole there was a basket, and someone threw an object from the
7"77 into the basket he is 211, because we say Xn¥°rn nnx 73, and the basket is a "7,
therefore he is 2°11. I would think that *27 agrees with this and therefore that is the reason
why 27 is 21, when 1°7 3"Y 1 7, and [ would never know that 27 holds 202 1911 7w
"Ry

R 2 vp1 9977 — therefore the Xn>>12 specifies 'Ry H2'

"1 9991 STW 2R 5297 RRYYT YKL — to inform us that the reason why
21 is 21, is because of'12Y 1911 YTW, and it has nothing to do with 332 >"9, since it
isaw"yr.

This concludes the 7v°w of N90IN, who maintains that the purpose of 17pP°¥ N2 11 TV is
to change the mw" status of the 711 from a 7"77 to a °"717 and to be 2»nn for "7 PN
"5,

TIPOY N2 DN TR 2R IRD W v"'wT — however 3'"'w9 who explains
here our X713, that 192%» 902 1811 572 accomplishes
"7 @R S23 HY 29397 nwna mns M — that it is considered as if (the object

which landed on the 712) it landed on a =2'"'7192 'T 2P, and he is 2n for "7 P
2"772 MR

TTORYTY MWER N — it is impossible to substantiate s""w position

"sn b 987 — for if the branch was within 3 2°nov of the 1"71 ypap

Rnby v910% '7 2mm w2 X% — no one requires that it have a '7 2P, the 1120
would also agree that he is 2»n, for there would be no need for 1911 >7w

2°2777 N M7 KD 'an 7epn® — and if the branch was above 3 yppn oo
3", it would not be a ='"';19, but rather a Mo Py since it is a XW 99 P17, and

7 Or perhaps a n"om13, if we would assume that since 15 >7& accords the 711 the status of a '7 @2, it may be
considered as if it has a '7 0n for real and therefore it would be a n°2n13. See ‘Thinking it over” # 3.
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there would be no 2111 of 7"772 MR "7 P71, The only way to resolve this problem, mMso1n
continues —

N7 TX2 VY TIRW 7909272 TORYI KD a8 — unless we say that the object thrown

was a fat and sticky fig, and it stuck to the side of the branch, not on top of
the branch, but on the side, so the bottom of the fig is not on the branch, but rather it
hovers over the 1"177, therefore even if the branch is a M5 2p» (or since we consider the
branch a "1 03pn, because of 131 7w, the top of the branch is a n°911), nevertheless the
side of the branch, where the fig is attached and hovering over the 1"77, is considered
part of the 81”,1‘1, and therefore he is 217 for 1"7772 R"7 PO, It is self understood that this
is a very unusual case and it is unlikely that this is what the X713 meant.

Appendix
The X"aw" says that the reason »aX does not interpret the case of w"> 1 A"y 1 P77, in a

7"717, is because even in a 1", everyone agrees that a '7 23p» is not required according to
X701 27. The commentaries ask, that nevertheless there still can be a np1%n7 in the case of
a tree which is entirely in a 1", and the np12r» is whether we say 121 >72 to consider the
branch, which would be a M5 01p» to be a 2"70.

The X"2w" may be understood in the following manner. The reason why we want to
establish this X092 in a "7 1S becauseg, that then we would gain that 131 *7% would be
used to accord the branch the status of a '7T 0p»n (rather than to change n1w9). The
advantage of this is because the simple reading of the Xn»92, which says w''s 1 2"y i,
indicates that the reason that the 0°25n are 119, is because there is no "7 23»n. We would
also gain that the situation is less complicated, the entire tree in one mMwA. If we were to
assume that a 7"717 requires a "7 23pn, then we would use the s'X"2wA scenario, where the
trunk was below '3 etc and the np172nn would be with the tree entirely in the 1"77. Now
however that the X"2w1 says that according to X701 27 a 7"77 does not require a '7 Q1PA,
what would be gained if we would say that the tree is completely in the 1"77. We cannot
say 121 *7w for a '7T 0Pn, because a 1"717 does not require a "7 23pn. Therefore we have to
say "121 7¥ to accord the branch the status of another nmw, that instead of being a 21pPn
75 (or N9»I2) it will be a 1"77, which is the same as when 9"7772 1911 °"7192 1Py, So
nothing has been gained. We cannot say, that we would gain at least that the tree is in one
mw", so it is more usual than in two different n1"WwA, because the case which the X"awn
suggests to us in the 2"77, that the trunk was "W nun? or exactly 'v and the branch is
elsewhere, may even be more complicated, than a regular tree in two n1wA. Therefore,
even though it may be possible to establish the Xn>12 in a 7"77, however there would be
no advantage over 1"1772 1911 "2 1P

The question may be asked since the term ¥'"> 17 is irrelevant whether we say it is
completely in the 7"77 or 7"772 1911 2"7172 17pP°Y, why choose the latter over the former? It
seems that the X"2w" addresses this issue later in this N19010, when he says that in the case
of two N1, where the 2111 is for *"7717% 2" P71, then it is important to say Xy 3 11,
for otherwise, if it would be a '7 11, then according to the 2’121, he would also be 211 for
a 77?2 "7 P, However'? if it is in one mw, and the 27 is for 2”2 MR ' PO,

¥ See the 121 79Wp1 7172 (X,1) Xm), see also mvy "7 oW MDOMN.
? See ‘Overview’.
' This conclusion is not part of the s'X"2w" statement.
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then according to the 2°n21, he will never be 211 for Hqiraqs )"y P11, no matter what the
size of the 1. It will never be a 1"117, because any object in the "\ 75915 2" is either a
o175 or a MWd OPn, so why mention a w"> 1. Therefore »ax chose the case of two
M"Y, because it satisfies (somewhat) the need for a Xyw 92 1.

Summary:
According to *"w7, the Xn>22 of w"> 1 A"y n pI1, according to AN, 1S

discussing a case where he threw the object 7"1772 mnX '7, and the argument
between 2°12mM 27 1s whether we say 121 *7w to accord the w"> 171 the status
of a'7 01PN

According to M90n, the argument is whether we say 121 70 to confer upon
the w"> 11, which is in the 2"777, the status of a "7 23?1 in a "7, and he will
be 21 for ¥ 2" P

In s™"2X original statement the principle of 121 >7w, had to accomplish only
that the branch has the status of a >"'117, but not that it be a '7 2pn, because 20
X707 1s of the opinion that a "7 @p7 1s not required.

There is an argument between the X"awam moong “Hya, whether X70m 27
maintains that a '7 2p» i1s not required only in a °"777, however in a 27 ,7"7"
X701 would agree that a '7 23n is required, or the fuvw of the X"awA, that
according to X701 27 a '7T OPn 1s never required, neither in a "7 nor in a
"N,

Some of the concepts we learn from this N1voIN:

The 7w of 771 7"2 01 "1, that we say Xn¥°rn POX 73 that if we have a
platform suspended in the 7"77 which is "7 2m™ » 7123, and there are no walls
below it, nevertheless the top of the platform is considered a valid >"77,
because ‘we draw down the (imaginary) walls’ from the top of the platform
to the floor beneath it and it is as if the platform has valid mx°r» below it.
Those that argue with °"72 °"7 and maintain that if the 7%°nn does not reach
downward to within 3 2’19V of 1"77 N°YpP7p, and therefore NN 2°ypP12 0773,
1t 1s not a X nn.

That any (fixed) object in a 1"77, that is "W 79vn% and below oomow "1 is
either a Mwd opn if it is less than "7 %% "7, or a o7 if it is "7 5v '7 or larger.
Any object that is '3 71?7 is a 7"717 no matter its area, because NXN2°MD RYIND
mnT.

That if an object rests in a 7"77, in a manner that it is not on top of its resting
place but rather attached to its side and hovering over the 1"77, below 10
o°moY, it is considered as if it landed in the 7"77, even though the top of its
resting place may be a n°9173 (or a WD DIPN).

A" is ¥p12 7Y 79w, above and beyond its Mg

' Even though he may be 2»n for *";19% 2"519 P, but the P12 with *27 concerns 7"7172 X"7 T,

10
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Thinking it over

1. Mmoo explained that we cannot have the npYonn when the tree is entirely
in the 7", because if the branch is '7 am7, it would be a n°5n7> and less than
'7 it would be a wd opn'.

a) How can we think that it is '7 217, when we are talking about a X17w 92 191?
b) Why shouldn’t the branch be considered a 1"77 because of 121 *7w?

2. When n1901n suggests that the Xn»92 could be discussing a case when the
tree is entirely in the 7"717, there is difference between N1©01N and the X"2wA
as to what 121 7w will accomplish. What is the difference and how do we
account for it?

3. When we say that "21 *7w gives the branch the status of a '7 21, does it
mean that it is actually a '7 @3pn or that for M7 () 97°pPY) purposes we
consider it as if it is a "7 21Pn? How can this help us perhaps in understanding
question # 1? Perhaps it may also answer 19010 question on *"wA.

4. What are the relative strengths of the 3 mvw, i.e. X"2aw" ,mdo1n ,"wA?
5. The *"1 says'® that we mention X7 23 11 so we should not be mistaken

that maybe 27 holds like >""72 "9 that Xn¥°n» p°oX 713 and therefore he is 2m.
If that would be the reason why not be more specific, why say a 117
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